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Exams: Higher Studies (proteins Chemistry) 1% term (2022/2023)

Please, answer the following......ccccevenneniusesennresiennesnes (One point for each)

1-All proteins contain the (A) Same 20 amino acids (B) Different amino acids (C) 300 Amino acids
occurring in nature (D) Only a few amino acids

2-Proteins contain (A)-Only L- a - amino acids (B) Only D-amino acids (C) DL-Amino acids (D) Both (A) and
(8)

3-The optically inactive amino acid is (A) Glycine (B) Serine (C) Threonine (D) Valine

4-At neutral pH, a mixture of amino acids in solution would be predominantly: (A) Dipolar ions (B)
Nonpolar molecules (C) Positive and monovalent (D) Hydrophobic

5-The true statement about solutions of amino acids at physiological pH is (A) All amino acids contain
both positive and negative charges (B) All amino acids contain positively charged side chains (C) Some
amino acids contain only positive charge (D) All amino acids contain negatively charged side chains

6-Sulphur containing amino acid is (A) Methionine (B) Leucine (C) Valine (D) Asparagine

7-An example of sulphur containing amino acid is (A) 2-Amino-3-mercaptopropanoic acid (B) 2-Amino-3-
methylbutanoic acid (C) 2-Amino-3-hydroxypropanoic acid (D) Amino acetic acid

8-All the following are sulphur containing amino acids found in proteins except (A) Cysteine (B) Cystine
(C) Methionine (D) Threonine

9-An aromatic amino acid is (A) Lysine (B) Tyrosine (C) Taurine (D) Arginine

10-Amino acid with side chain containing basic groups is (A) 2-Amino 5-guanidovaleric acid (B) 2-
Pyrrolidine carboxylic acid (C) 2-Amino 3-mercaptopropanoic acid (D) 2-Amino propanoic acid

11-An essential amino acid in man is (A) Aspartate (B) Tyrosine (C) Methionine (D) Serine

12-Non essential amino acids (A) Are not components of tissue proteins (B) May be synthesized in the
body from essential amino acids (C) Have no role in the metabolism (D) May be synthesized in the body
in diseased states

13-Which one of the following is semiessential amino acid for humans? (A) Valine (B) Arginine (C) Lysine
(D) Tyrosine

15-An example of polar amino acid is (A) Alanine (B) Leucine (C) Arginine (D) Valine

16-The amino acid with a nonpolar side chain is (A) Serine (B) Valine (C) Asparagine (D) Threonine
17-A ketogenic amino acid is (A) Valine (B) Cysteine (C) Leucine (D) Threonine

18-An amino acid that does not form an ahelix is (A) Valine (B) Proline (C) Tyrosine (D) Tryptophan
19-An amino acid not found in proteins is (A) B-Alanine (B) Proline (C) Lysine (D) Histidine

20-Biuret reaction is specific for (A) ~CONH-linkages (B) ~CSNH2 group (C) —(NH)NH2 group (D) All of
these
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21-Casein, the milk protein is (A) Nucleoprotein ( B} Chromoprotein (€} Phosphoprotein (D) Glycoprotein

22An example of phosphoprotein present in egg yolk is (A) Ovoalbumin (B) Ovoglobulin {C) Ovovitellin
(D) Avidin K

23-The protein present in hair is (A) Keratin {B) Elastin (C) Myosin (D) Tropocollagen

24-The amino acid from which synthesis of the protein of hair keratin takes place is (A) Alanine (B)
Methionine (C) Proline (D) Hydroxyproline

25-After re leas ing 02 at the tissues, hemoglobin transports (A) CO2 and protons to the lungs (B) 02 to
the lungs (C) €02 and protons to the tissue (D) Nutrients

26-Proteins are soluble in (A) Anhydrous acetone(B) Aqueous alcohol (C) Anhydrous alcohol (D) Benzene

27-A cereal protein soluble in 70% alcohol but insoluble in water or salt solution is (A) Glutelin (8)
Protamine (C) Albumin (D) Gliadin !

29-The hydrogen bonds between peptide linkages of 3 protein molecules are interfered by (A)
Guanidine (B) Uric acid (C) Oxalic acid (D) Salicylic acid

30-At the lowest energy level a-helix of polypeptide chain is stabilised (A) By hydrogen bonds formed
between the H of peptide N and the carbonyl O of the residue (B) Disulphide bonds (C) Non polar bonds
(D) Ester bonds

31-Tertiary structure of a protein describes (A) The order of amino acids ( B) Location of disulphide bonds
(C) Loop regions of proteins (D) The ways of protein folding

32-In a protein molecule the disulphide bond is not broken by (A) Reduction (B) Oxidation (€)
Denaturation (D) X-ray diffraction

chromatography

34-Denaturation of proteins results in (A) Disruption of primary structure (B) Breakdown of peptide
bonds (C) Destruction of hydrogen bonds (D) Irreversible changes in the molecule

35—Pepsinogen is converted to active pepsin by (A) HCI (B) Bile salts (C) Ca++ (D) Enterokinase
36-The optimal PH for the €nzyme rennin is (A) 2.0 (B)4.0(c)8.0 (D) 6.0
37The optimal pH for the énzyme trypsin is (A) 1.0-2.0 (B) 2.0-4.0 (C)5.2-6.2 (D) 5.8-6.2
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41-Renin converts casein to paracasein in presence of (A) Ca++ (B) Mg++ (C) Na+ (D) K+

42-The enzyme trypsin is specific for peptide bonds of (A) Basic amino acids (B) Acidic amino acids (C)
Aromatic amino acids {D) Next to small amino acid residues

43-Chymotrypsin is specific for peptide bonds containing (A) Uncharged amino acid residues (B) Acidic
amino acids (C) Basic amino acid (D) Small amino acid residues

44-The end product df protein digestion in G.L.T. is (A) Dipeptide (B) Tripeptide (C) Polypeptide (D)
Amino acid

45-The 2 nitrogen atoms in urea are contributed by (A) Ammonia and glutamate (B) Glutamine and
glutamate (C) Ammonia and aspartate (D) Ammonia and alanine

46-A limiting amino acid is an essential amino acid (A) That is most deficient in proteins (B) That is most
excess in proteins (C} That which increases the growth (D) That which increases the weight gain

47-The limiting amino acid of fish proteins is (A) Tryptophan (B) Cysteine (C) Lysine (D) Threonine
49-A trace element deficient in the milk is (A) Magnesium (B} Copper (C) Zinc (D) Chloride
50-Milk is deficient in kA) Vitamin B1 (B) Vitamin B2 (C) Sodium (D) Potassium

51Milk is deficient in (A) Calcium (B) Iron (C) Sodium (D) Potassium

52-The basic amino acids are (A) Lysine (B) Bile acids (C) Glycine (D) Alanine

53- Atisoelectric pH, an amino acid exists as (A) Anion (B) Cation (C) Zwitterion (D) None of these

54- A disulphide bond can be formed between (A} Two methionine residues {B) Two cysteine residues
(C) A methionine and a cysteine residue (D) Al of these

55- A coagulated protein is (A) Insoluble (B) Biologically non-functional (C) Unfolded (D) All of the above

56- At a pH below the isoelectric point, an amino acid exists as (A) Cation (B) Anion (C) Zwitterion (D)
Undissociated molecule

57- An amino acid having a hydrophilic side chain is {A) Alanine (B) Proline (C) Methionine (D) Serine

58- An amino acid that does not take part in a helix formation is (A) Histidine (B) Tyrosine (C) Proline (D)
Tryptophan

59- A protein rich in cysteine is (A) Collagen (B) Keratin (C) Haemoglobin (D) Gelatin

60- Primary structure of proteins can be determined by the use of (A) Electrophoresis (B}
Chromatography (C) Ninhydrin (D) Sanger’s reagent

61- Electrostatic bonds can be formed between the side chains of (A) Alanine and leucine (B) Leucine
and valine (C) Asparate and glutamate (D) Lysine and aspartate

62- Primary structure of a protein is formed by (A) Hydrogen bonds (B) Peptide bonds (C) Disulphide
bonds (D) All of these
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63- a-Helix is formed by (A} Hydrogen bonds (B) Hydrophobic bonds €) Electrostétic bonds (D)
Disulphide bonds

64-Glutelins are present in (A) Milk (B) Eggs (C) Meat (D) Cereals
65- Two amino groups are present in (A) Leucine (B) Glutamate (C) Lysine (D) Thréonine

66- The prostaglandins are synthesized from (A) Arachidonic acid (B) Oleic acid (C) Linoleic acid (D)
Linolenic acid

67- During denaturation of proteins, all of the following are disrupted except (A) Primary structure (B)
Secondary structure (C) Tertiary structure (D) Quaternary structure

68- All the following are branched chain amino acids except (A) Isoleucine (B) Alanine (C) Leucine (D)
Valine

69- An -OH group is present in the side chain of (A) Serine (B} Arginine (C) Lysine (D) Proline

70- Alanine can be synthesized from (A) Glutamate and a-ketoglutarate (B) Pyruvéte and glutamate (C)
Pyruvate and a-ketoglutarate (D) Asparate and a-ketoglutarate

71- Free ammonia is released during (A) Oxidative deamination of glutamate (B) Catabolism of purines
(C) Catabolism of Pyrimidines (D) All of these

72- Pancreatic juice contains the precursors of all of the following except (A) Trypsin (B) Chymotrypsin
(c) Carboxypeptidase (D} Aminopeptidase

73- A Zwitterion is (A) Positive ion (B) Negative ion (C) Both (A) and {C) (D) None of these
74- Maize is poor in (A} Lysine (B) Methionine (C) Tryptophan (D) Lysine and tryptophan

75- Egg is rich in all of the following except (A) Cholesterol (B) Saturated fatty acids (C) Ascorbic acid (D)
Calcium




